

Fekete-Szegő Problem for Certain Subclass of Analytic Functions

Halit Orhan, Elif Güneş and Yaşar Polatoğlu

Presented by V. Kiryakova

Making use of the Carlson-Shaffer linear operator, two new subclasses of analytic functions are defined and an upper bound is obtained for $|a_3 - \mu a_2^2|$ over these the classes.

AMS Subject Classification: 30C45

Key Words: Univalent and analytic functions, starlike and convex function Fekete-Szegő problem, Carlson-Shaffer linear operator.

1. Introduction.

Let A denote the family of functions of the form

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$

which are analytic in the open unit disk $U = \{z : |z| < 1\}$. Further, let S denote the class of functions which are univalent in U . A function $f(z)$ belonging to A is said to be strongly starlike of order β and type α in U , and denoted by $\tilde{S}_{\alpha}^{*}(\beta)$ if it satisfies

$$(1.2) \quad \left| \arg \left(\frac{zf'(z)}{f(z)} - \alpha \right) \right| < \frac{\pi}{2} \beta \quad (z \in U)$$

for some α ($0 \leq \alpha < 1$) and β ($0 < \beta \leq 1$). If $f(z) \in A$ satisfies

$$(1.3) \quad \left| \arg \left(1 + \frac{zf''(z)}{f'(z)} - \alpha \right) \right| < \frac{\pi}{2} \beta \quad (z \in U)$$

for some α ($0 \leq \alpha < 1$) and β ($0 < \beta \leq 1$), then we say that $f(z)$ is strongly convex of order β and type α in U , and we denote by $\tilde{C}_\alpha(\beta)$ the class of all such functions (you can see also Srivastava and Owa [5]).

Now we define the function $\phi(a, c; z)$ by

$$\phi(a, c; z) = z + \sum_{n=2}^{\infty} \frac{(a)_{n-1}}{(c)_{n-1}} a_n z^n,$$

for

$$c \neq 0, -1, -2, \dots, a \neq -1; z \in U$$

where $(\lambda)_n$ is the Pochhammer symbol defined by

$$(\lambda)_n = \frac{\Gamma(n+\lambda)}{\Gamma(\lambda)} = \begin{cases} 1; & n=0 \\ \lambda(\lambda+1)(\lambda+2)\dots(\lambda+n-1), & n \in \mathbb{N} = \{1, 2, \dots\} \end{cases}.$$

Carlson and Shaffer [4] introduced a linear operator $L(a, c)$, by

$$\begin{aligned} L(a, c)f(z) &= \phi(a, c; z) * f(z) \\ &= z + \sum_{n=2}^{\infty} \frac{(a)_{n-1}}{(c)_{n-1}} a_n z^n, \quad z \in U, \end{aligned}$$

where $*$ stands for the Hadamard product or convolution product of two power series $\varphi(z) = \sum_{n=1}^{\infty} \varphi_n z^n$ and $\pi(z) = \sum_{n=1}^{\infty} \pi_n z^n$

defined by $\varphi * \pi = \pi * \varphi = \sum_{n=1}^{\infty} \varphi_n \pi_n z^n$. We note that

$$L(a, a)f(z) = f(z), \quad L(2, 1)f(z) = zf'(z),$$

$$L(m+1, 1)f(z) = D^m f(z),$$

where $D^m f(z)$ is the Ruscheweyh derivative of $f(z)$ defined by Ruscheweyh [9] as

$$D^m f(z) = \frac{z}{(1-z)^{m+1}} * f(z), \quad m > -1.$$

Which is equivalently,

$$D^m f(z) = \frac{z}{m!} \frac{d^m}{dz^m} \{z^{m-1} f(z)\}.$$

With the aid of the Carlson and Shaffer linear operator $L(a, c)$, we say that a function $f(z)$ belonging to A is to be in the class $P_\alpha(\beta, a, c)$ if it satisfies

$$(1.4) \quad \left| \arg \left(\frac{z(L(a, c)f(z))'}{L(a, c)f(z)} - \alpha \right) \right| < \frac{\pi}{2}\beta \quad (z \in U)$$

for some α ($0 \leq \alpha < 1$), β ($0 < \beta \leq 1$) and for all $z \in U$. A function $f(z)$ belonging to A is to be in the class $C_\alpha(\beta, a, c)$ if it satisfies

$$(1.5) \quad \left| \arg \left(1 + \frac{z(L(a, c)f(z))''}{(L(a, c)f(z))'} - \alpha \right) \right| < \frac{\pi}{2}\beta \quad (z \in U)$$

for some α ($0 \leq \alpha < 1$), β ($0 < \beta \leq 1$) and for all $z \in U$. Note that

$$P_\alpha(\beta, a, a) \equiv \tilde{S}_\alpha^*(\beta)$$

and

$$C_\alpha(\beta, a, a) \equiv \tilde{C}_\alpha(\beta).$$

For the class S of analytic univalent functions, Fekete-Szegő [6] obtained the maximum value of $|a_3 - \mu a_2^2|$ when μ is real. For various functions of S the upper bound for $|a_3 - \mu a_2^2|$ is investigated by many different authors including [2, 7, 10-14].

In the present paper, we obtain sharp upper bound for $|a_3 - \mu a_2^2|$ when f belonging to the class of functions defined as follows.

Definition: Let α ($0 \leq \alpha < 1$), $\beta > 0$ and let $f \in A$. Then $\mathfrak{M}_\alpha(\beta, a, c)$ if and only if there exist $g \in P_\alpha(\beta, a, c)$ such that

$$(1.6) \quad \operatorname{Re} \left(\frac{z(L(a, c)f(z))'}{L(a, c)g(z)} \right) > 0 \quad (z \in U),$$

and $f \in K_\alpha(\beta, a, c)$ if and only if there exists $g \in C_\alpha(\beta, a, c)$ and satisfy condition (1.6) with $g(z) = z + b_2 z^2 + b_3 z^3 + \dots$

Note that $\mathfrak{M}_0(\beta, a, a) \equiv \wp(\beta)$ is the class of close-to-convex functions defined in [2] and $\mathfrak{M}_0(1, a, a) \equiv \wp(1)$ is the class of normalized close-to-convex functions defined by Kaplan [3]. $\mathfrak{M}_\alpha(\beta, a, a) \equiv M(\alpha, \beta)$ is the class $M(\alpha, \beta)$ introduced and studied by Frasin and Darus [8].

In the present paper we derive the generalization of the by Jahangiri [7] and Frasin et al. [8]

2. Main results

To establish our results, we shall require the following Lemma [1].

Lemma 2.1. Let $h \in P$, that is, h be analytic in U and be given by $h(z) = 1 + c_1z + c_2z^2 + \dots$, and $\operatorname{Re} h(z) > 0$ for $z \in U$, then

$$(2.1) \quad \left| c_2 - \frac{c_1^2}{2} \right| \leq 2 - \frac{|c_1|^2}{2}.$$

Theorem 2.2. $f(z) \in \mathfrak{M}_\alpha(\beta, a, c)$ and be given by (1.1). Then for $0 \leq \alpha < 1$, $\beta \geq 1$ and $\mu \geq 1$, we have the sharp inequality

$$(2.2) \quad \begin{aligned} |a_3 - \mu a_2^2| \leq & \frac{6\beta^2[\mu c^2(a+1) - ac(c+1)] + \alpha\beta^2[ac(c+1)(8-2\alpha) - 3\mu c^2(a+1)]}{3a^2(a+1)(2-\alpha)(1-\alpha)^2} \\ & + \frac{(2\beta+1-\alpha)[3\mu c^2(a+1) - 2ac(c+1)]}{3a^2(a+1)(1-\alpha)}. \end{aligned}$$

Proof. Let $f(z) \in \mathfrak{M}_\alpha(\beta, a, c)$. It follows from (1.6) that

$$(2.3) \quad z(L(a, c)f(z))' = \{L(a, c)g(z)\}q(z),$$

for $z \in U$, with $q \in P$ given by $q(z) = 1 + q_1z + q_2z^2 + \dots$. Equating coefficients, we obtain

$$(2.4) \quad 2a_2\frac{a}{c} = q_1 + \frac{a}{c}b_2, \quad 3a_3\frac{a(a+1)}{c(c+1)} = \frac{a(a+1)}{c(c+1)}b_3 + \frac{a}{c}b_2q_1 + q_2.$$

Also, it follows from (1.4) that

$$(2.5) \quad z(L(a, c)g(z))'^\beta,$$

where

$$z \in U, \quad p \in P \quad \text{and} \quad p(z) = 1 + p_1z + p_2z^2 + \dots$$

Thus equating coefficients, we obtain

$$(2.6) \quad (1-\alpha)\frac{a}{c}b_2 = \beta p_1, \quad (2-\alpha)\frac{a(a+1)}{c(c+1)}b_3 = \beta\left\{p_2 + \frac{\beta(3-\alpha) + \alpha - 1}{2(1-\alpha)}p_1^2\right\}.$$

From (2.4) and (2.6), we have

$$\begin{aligned}
 a_3 - \mu a_2^2 &= \frac{c(c+1)}{3a(a+1)} \left[q_2 - \frac{1}{2} q_1^2 \right] \\
 &+ \frac{2ac(c+1) - 3\mu c^2(a+1)}{12a^2(a+1)} q_1^2 + \frac{\beta c(c+1)}{3a(a+1)(2-\alpha)} \left[p_2 - \frac{1}{2} p_1^2 \right] \\
 &+ \frac{\beta^2 \{6[ac(c+1) - \mu c^2(a+1)] + \alpha[ac(c+1)(2\alpha-8) + 3\mu c^2(a+1)]\}}{12a^2(a+1)(2-\alpha)(1-\alpha)^2} p_1^2 \\
 (2.7) \quad &+ \frac{\beta[2ac(c+1) - 3\mu c^2(a+1)]}{6a^2(a+1)(1-\alpha)} p_1 q_1.
 \end{aligned}$$

Assume that $a_3 - \mu a_2^2$ is positive. Thus we now estimate $\operatorname{Re}(a_3 - \mu a_2^2)$, so from (2.7) and by using Lemma 2.1 and letting

$$p_1 = 2re^{i\theta}, \quad q_1 = 2Re^{i\phi}; \quad 0 \leq r \leq 1, \quad 0 \leq R \leq 1; \quad 0 \leq \theta < 2\pi; \quad 0 \leq \phi < 2\pi,$$

we obtain

$$\begin{aligned}
 3 \operatorname{Re}(a_3 - \mu a_2^2) &= \frac{c(c+1)}{a(a+1)} \operatorname{Re} \left(q_2 - \frac{1}{2} q_1^2 \right) + \frac{2ac(c+1) - 3\mu c^2(a+1)}{4a^2(a+1)} \operatorname{Re} q_1^2 \\
 &+ \frac{\beta c(c+1)}{a(a+1)(2-\alpha)} \operatorname{Re} \left(p_2 - \frac{1}{2} p_1^2 \right) \\
 &+ \frac{\beta^2 \{6[ac(c+1) - \mu c^2(a+1)] + \alpha[ac(c+1)(2\alpha-8) + 3\mu c^2(a+1)]\}}{4a^2(a+1)(2-\alpha)(1-\alpha)^2} \operatorname{Re} p_1^2 \\
 &+ \frac{\beta[2ac(c+1) - 3\mu c^2(a+1)]}{2a^2(1-\alpha)(a+1)} \operatorname{Re} p_1 q_1. \\
 3 \operatorname{Re}(a_3 - \mu a_2^2) &\leq \frac{2c(c+1)}{a(a+1)} (1 - R^2) + \frac{2ac(c+1) - 3\mu c^2(a+1)}{a^2(a+1)} R^2 \cos 2\phi \\
 &+ \frac{2\beta c(c+1)}{a(a+1)(2-\alpha)} (1 - r^2) \\
 &+ \frac{\beta^2 \{6[ac(c+1) - \mu c^2(a+1)] + \alpha[ac(c+1)(2\alpha-8) + 3\mu c^2(a+1)]\}}{a^2(a+1)(2-\alpha)(1-\alpha)^2} r^2 \cos 2\theta
 \end{aligned}$$

$$\begin{aligned}
& + \frac{2\beta[2ac(c+1) - 3\mu c^2(a+1)]}{a^2(1-\alpha)(a+1)} rR \cos(\theta + \phi). \\
3 \operatorname{Re}(a_3 - \mu a_2^2) & \leq \frac{3\mu c^2(a+1) - 4ac(c+1)}{a^2(a+1)} R^2 + \frac{2\beta[3\mu c^2(a+1) - 2ac(c+1)]}{a^2(a+1)(1-\alpha)} rR \\
& + \frac{6\beta^2[\mu c^2(a+1) - ac(c+1)] + \alpha\beta^2[ac(c+1)(8-2\alpha) - 3\mu c^2(a+1)] - 2\beta ac(c+1)(1-\alpha)^2}{a^2(a+1)(2-\alpha)(1-\alpha)^2} r^2 \\
(2.8) \quad & \frac{2c(c+1)[\beta - \alpha + 2]}{a(a+1)(2-\alpha)} = \psi(r, R).
\end{aligned}$$

Letting α , β and μ fixed and differentiating $\psi(r, R)$ partially when $0 \leq \alpha < 1$, $\beta \geq 1$ and $\mu \geq 1$, we observe that

$$\begin{aligned}
\psi_{rr}\psi_{RR} - \psi_{rR}^2 & = 4\{4\beta a^2 c^2 (c+1)^2 [4\beta + 2 + \alpha(2\alpha\beta + 2\alpha - 4 - 7\beta)] \\
(2.9) \quad & - 3\beta\mu ac^3(a+1)(c+1)[6\beta + 2 + \alpha(2\alpha\beta + 2\alpha - 4 - 8\beta)]\} < 0
\end{aligned}$$

Therefore, the maximum of $\psi(r, R)$ occurs on the boundaries. Thus the desired inequality follows by observing that

$$\begin{aligned}
& \psi(r, R) \leq \psi(1, 1) \\
& = \frac{\beta^2\{6[\mu c^2(a+1) - ac(c+1)] + \alpha[ac(c+1)(8-2\alpha) - 3\mu c^2(a+1)]\}}{a^2(a+1)(2-\alpha)(1-\alpha)^2} \\
(2.10) \quad & + \frac{(2\beta + 1 - \alpha)[3\mu c^2(a+1) - 2ac(c+1)]}{a^2(a+1)(1-\alpha)}.
\end{aligned}$$

The equality for (2.2) is attained when $p_1 = q_1 = 2i$ and $p_2 = q_2 = -2$.

Letting $\alpha = 0$ and $a = c = 1$ in Theorem 2.2 we have the result given by Jahangiri [7].

Corollary 2.3. Let $f(z) \in \wp(\beta)$ and be given by (1.1). Then for $\beta \geq 1$ and $\mu \geq 1$, we have the sharp inequality

$$(2.11) \quad |a_3 - \mu a_2^2| \leq \beta^2(\mu - 1) + \frac{(2\beta + 1)(3\mu - 2)}{3}.$$

Letting $a = c = 1$ in Theorem 2.2 we have the result given by Frasin and Darus [8].

Corollary 2.4. Let $f(z) \in M(\alpha, \beta)$ and be given by (1.1). Then for $0 \leq \alpha < 1, \beta \geq 1$ and $\mu \geq 1$, we have the sharp inequality

$$(2.12) \quad |a_3 - \mu a_2^2| \leq \frac{6\beta^2[\mu - 1] + \alpha\beta^2[8 - 2\alpha - 3\mu]}{3(1 - \alpha)^2(2 - \alpha)} + \frac{(2\beta + 1 - \alpha)(3\mu - 2)}{3(1 - \alpha)}.$$

Theorem 2.5. $f(z) \in K_\alpha(\beta, a, c)$ and be given by (1.1). Then for $0 \leq \alpha < 1, \beta \geq 1$ and $\mu \geq 1$, we have the sharp inequality

$$(2.13) \quad |a_3 - \mu a_2^2| \leq \frac{6\beta^2[3\mu c^2(a + 1) - 4ac(c + 1)] + \alpha\beta^2[ac(c + 1)(32 - 8\alpha) - 9\mu c^2(a + 1)]}{36a^2(a + 1)(2 - \alpha)(1 - \alpha)^2} + \frac{(\beta + 1 - \alpha)[3\mu c^2(a + 1) - 2ac(c + 1)]}{3a^2(a + 1)(1 - \alpha)}.$$

Proof. Let $f(z) \in K_\alpha(\beta, a, c)$. It follows from (1.5) that

$$(2.14) \quad z(L(a, c)g(z))'' + (1 - \alpha)\{L(a, c)g(z)\}' = \{L(a, c)g(z)\}'^\beta,$$

where

$$z \in U, \quad p \in P, \quad \text{and } p(z) = 1 + p_1z + p_2z^2 + \dots$$

Thus equating coefficients, we obtain

$$(2.15) \quad 2(1 - \alpha)\frac{a}{c}b_2 = \beta p_1, \\ 3(2 - \alpha)\frac{a(a + 1)}{c(c + 1)}b_3 = \beta(p_2 + \frac{\beta(3 - \alpha) + \alpha - 1}{2(1 - \alpha)}p_1^2)$$

From (2.4) and (2.15) and proceeding as in the proof of Theorem 2.2, we get

$$3\operatorname{Re}(a_3 - \mu a_2^2) \leq \frac{3\mu c^2(a + 1) - 4ac(c + 1)}{a^2(a + 1)}R^2 + \frac{c(c + 1)[2(\beta - 3\alpha) + 12]}{3a(a + 1)(2 - \alpha)} +$$

$$(2.16) \quad \frac{6\beta^2[3\mu c^2(a+1)-4ac(c+1)]+\alpha\beta^2[ac(c+1)(32-8\alpha)-9\mu c^2(a+1)]-8\beta ac(c+1)(1-\alpha)^2}{12a^2(a+1)(2-\alpha)(1-\alpha)^2}r^2 \\ + \frac{\beta[3\mu c^2(a+1)-2ac(c+1)]}{a^2(a+1)(1-\alpha)}rR = \psi(r, R).$$

Letting α, β and μ fixed and differentiating $\psi(r, R)$ partially when $0 \leq \alpha < 1, \beta \geq 1$ and $\mu \geq 1$ we have

$$(2.17) \quad \psi_{rr}\psi_{RR} - \psi_{rR}^2 = 2\{4\beta a^2c^2(c+1)^2[18\beta + 8 + \alpha(8\alpha\beta + 8\alpha - 16 - 29\beta)] \\ - 3\mu\beta ac^3(a+1)(c+1)[24\beta + 8 + \alpha(8a\beta + 8\alpha - 16 - 32\beta)]\} < 0$$

Therefore the maximum of $\psi(r, R)$ occurs on the boundaries. Thus the desired inequality (2.13) follows by observing that

$$(2.18) \quad \psi(r, R) \leq \psi(1, 1) = \frac{6\beta^2[3\mu c^2(a+1)-4ac(c+1)]+\alpha\beta^2[ac(c+1)(32-8\alpha)-9\mu c^2(a+1)]}{12a^2(a+1)(2-\alpha)(1-\alpha)^2} \\ + \frac{(\beta+1-\alpha)[3\mu c^2(a+1)-2ac(c+1)]}{a^2(a+1)(1-\alpha)}.$$

The equality in (2.13) is attained on choosing $p_1 = q_1 = 2i$ and $p_2 = q_2 = -2$. This completes the proof of Theorem 2.5. ■

Letting $\alpha = 0$ and $a = c = 1$ in Theorem 2.5 we have the result given by Jahangiri [7].

Corollary 2.6. Let $f(z) \in K_0(\beta, 1, 1)$ and be given by (1.1). Then for $\beta \geq 1$ and $\mu \geq 1$, we have the sharp inequality

$$(2.19) \quad |a_3 - \mu a_2^2| \leq \frac{1}{12} [(3\mu - 2)(\beta + 2)^2 - 2\beta^2].$$

Letting $a = c = 1$ in Theorem 2.5 we have the result given by Frasin and Darus [8].

Corollary 2.7. Let $f(z) \in K_\alpha(\beta, 1, 1)$ and be given by (1.1). Then for $0 \leq \alpha < 1, \beta \geq 1$ and $\mu \geq 1$, we have the sharp inequality

$$|a_3 - \mu a_2^2| \leq \frac{6\beta^2(3\mu - 4) + \alpha\beta^2(32 - 8\alpha - 9\mu)}{36(1 - \alpha)^2(2 - \alpha)} + \frac{(\beta + 1 - \alpha)(3\mu - 2)}{3(1 - \alpha)}.$$

References

- [1] Ch. Pommerenke. *Univalent Functions with a chapter on Quadratic Differentials* by Gerd Jensen, Vandenhoeck and Ruprecht, Göttingen (1975).
- [2] A. Chonweerayot, D.K. Thomas and W. Upakarnitikaset. On the coefficients of close-to-convex functions, *Math. Japon.*, **36**, 1991, 819-826
- [3] W. Kaplan. Close-to-convex schlicht functions, *Michigan Math. J.*, **1**, 1952, 169-185.
- [4] B. C. Carlson and D. B. Shaffer. Starlike and prestarlike hypergeometric functions, *SIAM J. Math. Anal.* **15**, 1984, 737-745.
- [5] H. M. Srivastava and S. Owa. (Edit.) *Current Topics in Analytic Functions Theory*, World Scientific Publishing Co., Inc., River Edge, NJ, 1992.
- [6] M. Fekete-Szegö. Eine Bemerkung über ungrade schlicht funktionen., *J. London Math. Soc.*, **8**, 1933, 85-89 (German).
- [7] M. Jahangiri. A coefficient inequality for a class of close-to-convex functions, *Math. Japon.*, **41**, 1995, 557-559.
- [8] B. A. Frasin and M. Darus. On the Fekete-Szegö Problem, *Internet. J. Math. Sci.*, **24**, (9), 2000, 577-581.
- [9] S. Ruscheweyh. New criteria for univalent functions, *Proc. Amer. Math. Soc.*, **49**, 1975, 109-115.
- [10] H. M. Srivastava, A. K. Mishra, and M. K. Das. The Fekete-Szegö problem for a subclass of close-to-convex functions, *Complex Variables Theory Appl.*, **44**, 2001, 145-163.
- [11] W. Koepf. On the Fekete-Szegö problem for close-to-convex functions, *Proc. Amer. Math. Soc.*, **101**, 1987, 89-95.
- [12] H. Orhan and M. Kamali. On The Fekete-Szegö Problem, *Appl. Math. And Comp.*, **144**, 2003, 181-186.

- [13] R. R. London. Fekete-Szegö inequities for close-to convex functions, *Proc. Amer. Math. Soc.*, **117**, 1993, 947-950.
- [14] H. R. Abdel-Gawad and D. K. Thomas. The Fekete-Szegö problem for strongly close-to convex functions, *Proc. Amer. Math. Soc.*, **114**, 1992, 345-349.

Received 10.06.2005

*Department of Mathematics,
Faculty of Science and Art,
Atatürk University
25240 Erzurum, TURKEY
E-mail: horhan@atauni.edu.tr*

*Department of Mathematics,
Faculty of Science and Letters
Kültür University İstanbul,
34191 Şirinevler,
İstanbul, TURKEY
E-mail: y.polatoglu@iku.edu.tr*